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One of the following methods possesses the characteristic of
‘Objectivity’ at the highest level.

1 Observation method
2 Interview method

3. Case study method
4.

Experimental method
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One of the following is not related to the scope of Educational
psychology
1. Methods of Learning

2. Educational philosophy
3. Development of thinking

4, Educational statistics
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Fill in the blank

Development = f (maturation x )

1 Intelligence

2 Imitation

3. Learning

4 Personality
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The following statement is not related to cross — sectional
approach

1. The same sample will be observed for a long period

2. Short term observation

3. It won’t examine the cause and effect relationship
between variables

4. Variables are observed several times at specific
intervals
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Which of the following theory is known as ‘constructivist
approach’.

1. Self-concept theory
2. Piaget’s Cognitive development
3. Kohlberg’s moral development theory

4. Thorndike’s Trial and error theory
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One of the following does not belong to the tests regarding
DAT (Differential Aptitude Test)

1. Concrete Reasoning
2. Abstract Reasoning
3. Verbal Reasoning

4. Spatial Relations
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One of the following aspects of aptitudes helps to guide the
selection of courses for one’s future

1. Scholastic aptitude

2. Aesthetic aptitude

3. Differential aptitude

4. Vocational aptitude
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Chaplin’s dictionary of psychology defined Adjustment as

“The in the activities of an individual in over coming
obstacles and fulfilling needs”

1. Intelligence

2 Variations

3. Learning

4 Conflicts
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Find the odd pair

I. L.L. Thurston — 7 types of mental abilities
2. Gardener — 8 types of intelligence

3. Spearman — three factor theory

4. Thorndike — multiple factor theory
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The defense mechanism where the person’s painful
experiences are forgotten by sending them to the unconscious
mind is known as

I. Displacement

2 Sublimation

3. Repression

4. Regression
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Find out the correct statement with regard to learning

1. Learning is a process, not the product

2. Learning means only product, not the process
3. Learning means temporary change

4. No relation between learning and maturity
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A student to choose either Maths or Biology as his course of
study where he is interested in photography. This comes under
the following type of conflict

Approach - Approach
Approach - Avoidance

Avoidance - Avoidance

BN -

Double approach - Avoidance
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The individual factor that influences learning
1. Aptitude

2. Home environment

3. Curriculum

4. Difficulty level of the item of learning
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Which one of the following belongs to affective domain
I. Imitation

2. Manipulation

3. Analysis

4. Valuing
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According to Maslow’s ‘theory of hierarchy of needs’, the
highest level of need

1. Physiological need
2. Recognition need
3. Safety need
4. Self-actualization
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The first stage of concept formation

1. Comparison with past experiences
2. Identification of common characteristics in past
experiences

Acquiring sensations through sense organs

4. Expressing common characteristic in the form of
symbols
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The following is not the characteristic of “Perception”

1. Perception depends on Sensations

2. Perception involves meticulous observation
3. Perception can be directly ascertained

4 Perception involves attention and thinking
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‘Tachistoscope’ instrument is used for the assessment of
1 Personality

2 Attitude

3. Span of attention

4 Intelligence
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The type of transfer of learning occurs when a ball badminton
player starts learning shuttle badminton

1. Positive
2. Negative
3. Zero

4, Bilateral
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Identify the wrong pair

I. Instructional theory - Bruner

2. Classical conditioning - Skinner
3. Insightful learning - Kohler

4. Cognitive development - Piaget
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The term ‘group dynamics’ was introduced by
l. Koftka
Bandura

3. Kurt Lewin

N

4. Carl Rogers
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Curriculum refers to

1. Curricular

2. Curricular + co curricular

3. Co curricular + Extra curricular

4. Curricular + Co curricular + Extra curricular
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Etiquette to be followed while using internet

1.
2.
3.
4,
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Netiquettes
Online formalities
Online Regulations

Net formalities
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5, 20
8, 25
27, 4
15, 5

Expand ‘DIKSHA’
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1
2.
3.
4

Digital Infrastructure for Experience Sharing
Digital Infrastructure for Knowledge Sharing
Digital Intelligence for Experience Sharing
Digital Intelligence for Knowledge Sharing
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The main objective of National Mission of F.L.N

1.
2.
3.
4.

to enhance Vocational skills
for reading & writing
for Adult Education

for primary literacy and numeracy skills
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The maximum storage capacity of ‘CD’
‘CD’ 0P O RONBH MIBF

1
2
3.
4

1 GB
700 MB
10 GB

1 TB

‘LED’ stands for

‘LED’ 0T3

1 Light Emitting Diode
2 Light Emitting Display
3. Light Explore Display
4 Light Explore Digital
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Minimum Attendance for ‘Amma Vodi’ scheme eligibility
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1. 70%
2. 75%
3. 80%
4. 60%

Author of the book “Civilization and Progress”

1. Gandhiji

2. Radha Krishnan
3. Ambedkar

4. Tagore
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How would you refuse your neighbour’s request
permission to use your new mobile phone?

Choose your response from the following.

1.

Sorry, it is not possible. I want to present it to my
friend.

You are not a good man. So, [ don’t give it to you.
Thank you very much!

It doesn’t matter.

Choose the sentence that can be used to give a suggestion.

1.

2.
3.
4

I’d love to.
Oh, that’s a good idea!
Hearty congratulations!

We’d better go to a movie.

for

Choose the option that should be included at the top right hand
side of a formal letter.

1.

2.
3.
4

recipient’s address
sender’s address
date

salutation

The primary purpose of a biographical sketch is:

1.
2.

to entertain the reader with anecdotes

to capture the essence of someone’s life in a concise

mannecr.

to provide a detailed account of a person’s entire life

without facts.

to analyze the psychological motivations of the subject.
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Choose the correctly punctuated sentence.

1. What’s come over you, master? he asked.

2 “What’s come over you, master,” he asked.
3. What’s come over you master? he asked

4 “What’s come over you, master?” he asked.

Trains do not / run / very fastly / on this track.

A B C D
Choose the part that has a grammatical error.
1. A
2. B
3. C
4 D

Choose the suffix that suits to get the adjectival form of the
word ‘beauty’

I. ful
2. full
3. fully
4 ness

The word ‘deplorable’ has stress on:
1. The first and the third syllables
2. the second syllable

3. the third syllable

4 the first syllable
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Choose the meaning of the idiom ‘at a loss’.

1.

2.
3.
4

Why don’t you

to do it intentionally
not knowing what to do.
to make someone angry.

to take advantage.

your ideas on paper?

Choose the option that fits the blank.

1.
2.
3.
4

Choose the mis — spelt word out of the given options
I.

2
3.
4

Choose the option that can be used as a one — word substitute

set up
set in
set out

set down

tingles
vibration
resonences

intriguing

for “one who spends too much”.

1.

2
3.
4

spendthrift
theist
linguist

mercenary
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You really gave me a fright when you crept up behind me like

that.

Choose the synonym of the word ‘fright’

1.

2
3.
4

comfort
soothe
startle

solace

Siva Subramania Iyer was not perturbed, nor did he get angry
with his wife.

Choose the right pair of opposite words of the word

‘perturbed’.

1 disturbed - worried

2. rattled - pacified

3. tranquilized - soothed

4 discomposed - confused

Choose the sentence with the correct use of articles

1. Children play the cricket.

2 The children play cricket.

3. Children play cricket.

4 The children the play the cricket.

She had always beenbad  languages.
Choose the preposition that fits the blank.

1. over

2. at

3. with

4. in
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80.

Fire and water had damaged the desk before the author found
it.

In the above sentence ‘had damaged’ describes:
1. near future

2 future

3. earlier past
4

unreal past

Gathergold is arriving tomorrow.

The above sentence indicates:

1. past time

2 future time

3. present time

4 discontinued past.

Someone asked, “Why has thief left the vest behind?”’
Choose the reported speech of the sentence above.

1. Someone asked who had the thief left the vest behind.
2 Someone asked why the thief had left the vest behind.
3. Someone asked why has the thief left the vest behind?
4

Someone asked why if the thief had left the vest
behind?

Elections to the Lok Sabha every five years.
Choose the option that completes the sentence meaningfully.
1. are held by

2 is hold by

3. were hold to

4 are held
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84.

There a lot of people in the park.
Choose the verb that fits the blank.

1. is

2 isn’t
3. was
4 were

Identify the noun clause from the following.
I. I will not go until he arrives

2 Come when you like.

3. I know the girl who won the prize

4

I know you have great regard for me.

Choose the interjection that shows ‘hesitation!’
1. Ev!

2 Oh!
3. Ah!
4 Oho!

Choose the word that is a noun from the following.
1. humble

2 blunt
3. impolite
4 datum
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His father was a high school teacher. He was an avid reader of
English literature.

Identify the true statement about the sentences given below.

1. Both are complex Sentences

2. Both are in present tense

3. Bothe the sentences can be combined as a single
sentence using ‘and’

4. Both are not simple sentences.

The tour guide was _ informative that we did not need to

read our guide book.
Choose the word that fits the blank.

1. neither

2 SO

3. either

4 in spite of

She was unable to attend the party her marriage
engagement.

Choose the correct phrasal preposition that fits the blank.

1. in addition to
2 due to

3. in case of

4 in place of

May [ use your mobile phone?

The above sentence indicates:

I. making a suggestion
2 expressing possibility
3. giving permission

4 taking permission
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Read the following passage.

Even researchers are finding that introverts make better leaders
than extroverts for the simple reason that they are more likely
to listen and pay attention to what other people are saying. By
taking a backseat, introverted leaders encourage others to
suggest ideas, contribute actively and take initiative, thus
increasing morale and motivation.

As stated in the passage, introverted leaders contribute to
increasing morale and motivation by:

1. dominating conversations and ideas

2 being outgoing and charismatic

3. encouraging others to suggest ideas and take initiative
4 socializing and networking effectively

Read the following passage.

Even researchers are finding that introverts make better leaders
than extroverts for the simple reason that they are more likely
to listen and pay attention to what other people are saying. By
taking a backseat introverted leaders encourage others to
suggest ideas, contribute actively and take initiative, thus
increase morale and motivation.

Introverts make better leaders because they are
1. interested

2 attentive

3. attention - seeking

4

alluring
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The smallest composite number is
- - -
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1
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4
3
2
1

Additive Identity
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General form of a rational number

1.
2.
3.
4.

p/q, p and q are integers ,q# 0
p/q, p and q are integers, q = 0
q/p, p and q are integers, q = 0
p/q, p and q are whole numbers, g =0
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Which of the following is a FALSE statement
FENIINGY ©=Z, Hevs

1. log.xy = log, x+ log, y

2. (a™)"=a"™"
a™ a"

3. —=—
a" a

4, log.x™ = m.log.x

A cBthenAnB=
AcB&sT8 AnB=
1 ¢

2. A

3. B

4. AUB

The portion of a cake is not possible to eat

2,000 Tz 3J 0 mqsémﬁcs gon

1 30%
2 50%
3. 100%
4 120%
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Profit or Loss is calculated on
1. Cost price

2 Selling price
3. Discount

4. Marked price
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2. R[00T B

3. slovenlewntt]

4. IR1Z BB

3.

e
]

b

An angle of 98" is knownas

1. Reflex angle

2. Right angle

3. Obtuse angle

4. Acute angle

98’ BReIT/R, VHOW FBAWOTVS?

1. JOLDT BRCT
2. OO0WBERCT
3. ATO BRCI

4, OFTERCT



99.

100.

101.

The sum of exterior angles of a regular polygon

2,000 QONNT WINPT BON LT 3ReING P

1 90°

2 180°
3. 360°
4 400°

Number of independent measurements to construct a
quadrilateral uniquely

2,00 BIGNFRWB/ZY, wssémﬁ OIAEIIDN) @ﬁéémcs
3308, ©¥INY B0y,

1. 5
2. 4
3. 3
4. 1

The famous Pythagoras theorem is also known as
Thales Theorem
Euclids Theorem

Bhaskara Theorem

N

: Baudhayan Theorem
TAT, TTINRCT Tpdeodwm, e AT
330d0 3,

e’ TSoeod
2. ODRIT Tphecd
3. %RAT TEOeod

4. PoRobd Tgheod

p._\



102. a+ {Zzﬂ X h} is the formula for

fi
1 Mode
2 Median
3. Mean
-+ Range

2 fi
1. YT 9T TRFSBS

a{mxh}m-@ 203

2. mc:oéo%
3. TOoRO
4 Ty

103. In general, this will be taken on X-axis when frequency
polygon is drawn independently.

1. Classes
2. Class mid values
3. Frequencies
4. Cumulative frequencies
-
TOBID[ION BT T IODZ, FBOZoN

RPORVTN X - ¥BB DS BT, IRTIRKWIEI.
L SO OZTNR

2. ROFOBTNS ZDC% 3S3neD

3. SEVCTARS

4 ROWY SFENW



104.

105.

(I+m)’ - (I-m)’ =

1.

2
3.
4

0
2/m
Pm?

4/m

Area of a Trapezium

1.
2.

3.

4.

2 (I+b) sq.units
Ibh sq.units

1 )
—ab sqg.units
) q

%h (atb) sq.units

9 9
OB QALEDE

—_—

2 (H+h) 2368 DBRTORAD
Ibh 3533 DISTORAD

%ab BT DFRTOIND

%h (a+b) 33T DTSPIND



—

106. (zri+n rz)is the formula for
T.S.A of a sphere
Volume of a sphere
C.S.A. of acone

T.S.A. of a cone

%LPP’!\’.H

§ (ﬂrl+7zr2)QDO&DC33
RRCST ;33@@3&6 QDAEERE
2. HRST TIFO

p.—\

3. RIOTAALY m%rdaeeﬁw QAEEDE

4. JOBND TR fm@w QACERE

0

107. In a sector 3x x 21 rrepresents

OO
1. Area

2 Circumference
3. Length of the arc
4

Diameter

0

20T WOIT DOBTY ﬁxzm RRWETYT
L QAgeeF
2. TOQ

3. B0RT 0g

-
4, mzsf\)



108.

109.

The volume of the largest right circular cone that can be cut
out of a cube whose edge is 7cm.

1.
2.
3.
4.

89.83cm
100 cu.cm
89.83 sq.cm
89.83 cu.cm

7 B0.50¢ LRTTONDT FIOT T¥HWTITOT €T
B,BIWT 0F0TEB0N NOF PIFO

1.

2.

3.

4.

89.83 £0.c0¢
100 3.%0.60¢
89.83 23.50.600¢

89.83 T.50.a0¢

The perimeter of a regular pentagon is 100cm. The length of
its each side is

1.
2.
3.
4.

20cm
15cm
10cm

S5cm

2,000 DONNT TOWLDWOD BWEYE 100 K0.0e.
OTT T LPBIT TR

1.

2.

3.

20 30.80¢
15 350.80¢.
10 50.80¢.

5 50.80¢.



110. A die is thrown once. The probability of getting a Prime
Number is

2000 TRYTI, WO PO YOLYATN IV
xoaﬁé WAT TOLTICONT

L2
6
2. 1
2
3.2
2
4. 1

111.  The point (0,—4) lies on
1. positive X-axis
2. negative X-axis
3. positiveY-axis
4. negativeY-axis
20T (0, — 4) AB m@@
1. PSS X - @g
2. 9N X-9F
[99)
3. P Y - @g

4. 2D Y — 9%
wh



112.

113.

114.

The slope of line joining (0,0) and (+/3,3)
(0,0) B (4/3,3) VOTORFT, FeORT TeBod

QLT

1 3

2 3

3. 1
3

Which of the following is NOT a trigonometricidentity
FENTPNEY ZBREINI0D IZFNCTTED VYT,

1. Sin°0+Cos’0 =1

2 Sec’0—tan°0 =1for0 <0 <90°
3. Cosec’0—Sec’0 =1

4 1+Cot’0 = Cosec’d for 0 <0 <90’

Sec A (1-SinA) (SecA + tanA) =

1. 1

2. 0

3. !
CosA



115.

116.

The author of “ SiddantaSiromoni” book which consists of
4 parts like the popular “LeelavatiGanitham”

Srinivasa Ramanujan
Brahma Guptha
Aryabhatta

4. Bhaskara - 11
BTN BIRODI TR ‘DecnBS NeST’TBOTT ey,

ARG “A020350 008" NOFRI) TWATHID
1. 3e:0F ToIORRT”

hadl A

2. wES
3. Qﬁdé&ﬁég

As Leibnitz stated ‘Music is modern internal practice of
arithmetic without knowing that behaving with numbers’, this
is

1 Utilitarian value

2 Moral Value

3. Aesthetic Value

4 Disciplinary Value

633ch; ePTOP wo&ﬁsﬁe&@o@ﬁ wswaamaioé
SPONTS IWOZNT STRAT S03OF LOTNRESS @z:oéxde
TONC3) > QT

1. mdoﬁwi@oﬁa m’@@é

2. 5&%5 ?ﬁ@@é

3. @ocﬁdéwas@ R0
G20 )

4. é?gp‘ ?@@5



117. Deductive method from Generalisation to specific is
introduced by

1 Comenius

2 Armstrong

3. John Dewey

4 David Horsburg

mmsséo‘:bocs @@meéofn IR VN w%@’
TGR0DT), BHCIVRATTE
1. BRWIONT®
2. ST T O
CAt)
3. ma%éaso‘:b

4. BT TORTEWITE

118. Generally, the percentage of learning by ‘writing while seeing’
in ‘Multi Sensor Approach’ is

I QOROD SARTY Wre® 0TOINT’ BRI
TOBIO[ION TOOINT JeFTH0TOW

1 30%
2 50%
3. 70%
4 90%



119. The proposal to start mathematics clubs in the schools was

120.

initiated by

1 1835 Macauley’s minutes

2 1952 Secondary Education Commission
3. 1986 National Policy on Education
4

1946 University Education Commission
ZoS0NY Neds ISAN STORLICFTOTD JPRTIED
BRWATI
L1835 h®S 3388 QS
2. 1952 R@ %o wodeen
3. 1986 @%}@OC)D 832 Qe
4. 1946 03, ATREOINY wodeen

X class Public Examinations belongs to the following type
1. Formative Evaluation

2 Summative Evaluation

3. Diagnostic Evaluation
4

Progresstic Evaluation

BIJe SONE TJYF* TOCENW, IINT Y, RedsS
. TwPEE IPOTRII

2. ROBOIVITF IPOB[RTI

3. 30008 BPOTRTI

4. BRTERRWT BPOTRTI



121.

122.

The motion of a ball along the ground is

1. Rotational motion

2. Rectilinear motion

3. Rectilinear and Rotational motion
4. Periodic motion

SOT e BoRT BOF

L o BoF

2. Tedeod BOY

3. TeDeod DI Fde WO
4.,  SITES BOI

A block of wood is kept on a table top. The mass of wooden
block is 5 kg and its dimensions are 40 cm x 20 cm x 10 cm.
Find the pressure exerted by the wooden block on the table top
with its sides of dimensions 20 cm x 10 cm. (g = 9.8 m/s?)

2,00 FWROD DOBT, HeRT ¢S VBWSONT. 84
B0 DORT TTOd 5 .10 W) ¥TT
OSINL 40 F0.cNE x20 FO.cWC. x10 FO.CWE., =3I
S0ed TR BDORT, VW VT LRIONY

L3N 20 FO.QNE x10 FO.cNE. STT, 0B
WETHNT 20ed BEIROD BOW TOIRENAT WBBID,
BOWILROND (g=9.8 m/s?)

1 612.5Nm™
2 612.5Nm’
3. 2450Nm’

4 2450 Nm™



123.  Sound can travel through

1. vacuum

N

solids, liquids and gases
3. only solids and liquids

4. only vacuum and gases

3R ARINY DROT TOIWEIRTT.
L 3RIT RO

2. TI, TR, DO TRHFNRTY
3. T, TR TOOTFAYY =0ZRe
4. 3R, MDY [:Re



124. Select the correct match of following groups (X) and (Y)

Group (X) Group (Y)
i. Absolute refractive index a. n sini = n, sinr
ii. Relative refractive index b.n=c/v

thickness of slab

iii. Snell’s law C. — - -
thickness of slab - vertical shift

iv. Refractive index of a glass slab d. n,, = ‘% = r%
2 1

X) DR (Y) MOWRYY  ROCIRT  ERI0DY,

eﬁofi%ma@.
O (X) oI (Y)
. WO WILLPWS MOFTTO0T a.n sini = n,sinr
ii. ZOTVeT B[EEIT/I MOFFOOT b.n=clv
iii. 37 20D c. MRT Forb 5%,

MBS DO T, - D02 DAIB
iv. MBS BoRch DRI HEvos  d. ay, = % - %
2 1

i—b,ii—d,iii—a,iv—c
i—a,ii—b,iii—c,iv—d

i—c,ii—d,iii—b,iv—a

b=

i—d,ii—c,iii—a,iv—b



125.

126.

The unit of magnetic flux density is

1. Weber

2. Tesla

3. Newton / m’

4. Newton / m’

VORFYOZ WOTEANT TzoT AOTIN TiSTed
1. 52 TF

2. &A@

3. SR/

4 SR /e’

This is NOT a member of the solar system

1. A constellation

2. A satellite

3. An Asteroid

4. A Comet

$UNIINIY 2 oo BIZHY

1. ISTNOW

o’
2. VINZ
3.  BINHW

o~

BTN

CAIQ.



127. The impurities present in the ore is called

1. Gangue
2. Flux
3. Slag
4 Mineral

525y, WOIY YTT DIOINTI, o7l FTOVTJTD.

1. aplelay
2. TR0
3. %é@%

4. BN

128. The chemical change among the following

1. melting of ice
2. burning of coal in air
3. freezing of water

4. heating of hack saw blade
FINTRNYY ToTOCRAT WTBRTEH

L DORINE FOMFZTD

2. TRIODY BHO/, AR
3. QT FTFACLIRRITYH T

4. STLEEEI, VATIVERT



129.

130.

The bond angle of NH, molecule is

1. 120°
2. 180°
3. 107°48'
4. 104°31"

NH,@t0QTOT WOFBRCTR)

1. 120°
2 180°
3. 107°48'
4 104°31"

A solution contains 40g of common salt in 320g of water.Then
its concentration in terms of mass by mass percentage of the
solution is

1. 10.1%
2. 10 g.

3. I1.1g
4. 11.1%

320 MR0.TRWEOT ACOJY 40 RO ATV, YOI,
BRONT. S0IT VW TRET MOFS BRI
3e3R@T TT=N

1L 101%
2. 10 RO
3. 11170

4. 11.1%



131.

132.

The natural fiber among the following

1. wool
2. nylon
3. PVC
4. polythene
BENIPNEY JFINET o0
1. o
2o}
2. [
3. QWA
4. TORT

0

Select the correct answer indicating the increasing order of the
following fuels on the basis of their calorific values

1. LPG

il. Diesel

iii.  Wood

iv. Hydrogen

397 BRBONE  WOTINYR, RN FER0LT
BSNY SHTmEN D0F TIB/I, BRWRE BOOIRT
PITTD, WOINZRY,

1. . 0.28
ii. ReB
iii. B3R
]
iv.  DWEEET

1, 1i, 111, 1v
i, i1, 1, iv

iv, iii, i1, 1

Ll

i, iii, 1, iv



133.

Correct match among the following

Group A
1) Biotin
i1) Tocoferol
iii) Niacin

iv) Thiamin

Group B
a) Beri beri
b) Nervous disorders
c) Fertility disorders
d) Pellagra

FSNTRNYY TOO3TN EReBRTRNT

o A
i) 003Re3T®
ii) eRedReHTOT®
iii) Q3T
iv) OST0NT®
i-a, ii-b, iii-c, iv-d
i-b, 1i-c, 1ii-d, iv-a

i-c, 1i-d, iii-a, iv-b

b=

i-d, ii-a, iii-b, iv-c

o B

a) 230230

b) ST TOWOP xmiémfo
¢) 2OWTT FIWANW

d) B,



134.

135.

The first sharp sound of the heart “LUB” is produced due to

1. closing of tricuspid and bicuspid valves
2. closing of pulmonary and systemic valves
3. closing of tricuspid and pulmonary valves
4. closing of bicuspid and systemic valves

TTONNOT [RTLD VT’ 0L B DTJET/ED
PRIl

1. BNZOR ZD@BD BNTON TN

-

Lichen is an example for
1. Parasite

2. Insectivore

3. Saprotroph

4. Symbiont
SFT AT, LOW YTIPTOH

1. SHODINANN
2. 3CLDTOO
BRVEIND
4. ABVCTI

»



136. ‘Body building foods’ among the following
1 rice and wheat
2 milk and fish
3. groundnuts and til
4 papaya and mango
EINTRNYY TWeDT T3S $TT BOFF R’
1. LW RO

2. ToeN mégo ANEI
3. Jeomno mag @%ﬁ%
4. TRTVOD W) IR

137. The phase of cell cycle in which cell organelles divide

1. G1 phase

2. S phase

3. G2 phase

4. M phase

58@&3?;5@2 FFOONNY DPWS BRHOTNR HOI
1. Gl 03

2. S =03

3. G2 03

M 03

-



138.

139.

Antibiotics are not effective against

1. typhoid

2. cholera

3. tuberculosis
4. small pox

mgewew JOBINYY YWT eSS
30T TBDPOY

1. @%momcs@

2. FOTO
3. FOD

wh
4. VRNOLN

The odd one with respect to marine fisheries

1 Sardines

2 Silver carp

3 Bombay duck
4 Mackerel
3

AR R030N

BT, W, YOTID TTON R, TTITY

REIT

N

ROT® TOTE
3. L3003 BT
4. =BT



140. The concept of “Ecological pyramids” was first introduced by
I. Charles Lyell
2. Charles Darwin
3. August Weismann
-+ Charles Elton

“23V[TED LTWT Y LOTZONT, HRLFRTLD
TBBTAITHD

1. TSR 66@6
2. FOSET TONED
3. eﬁrm; DT IO

4. Fo3eRe PO

141. Cone shaped trees with sloping branches are normally seen in

1. deserts

2. grass lands

3. mountain regions
4 plains

QPLVTT &raoaﬁrieémol JRODVT  JOB  STOTT
STNY MoRTTIN QY TOFRTS.

1L DDLERINAD

2. OLYNOTLONLY
3. TRES TTeSND
4. WWTOIND



142. Incorrect statement from the following

1.
2.

3.

4.

Chromosomes are composed of DNA and proteins.

DNA contains the information necessary for
constructing cells.

Functional segments of DNA are genes.

DNA is present only in the nucleus of the cell.

FSNTRNGY TOODYT Tewd

1.

BRLBRCARETINY, DNA ) TRCTNOOT
BRRT TWIND

%sami:n& QENERCY 23eF0T =Iw&E DNA
mo@mgcs.

DNA 03¢ @oﬁmég a:ome;m& asabémb
@m@m

DNA BTRe¥NTS 30880 SIRe QI



143.

Assertion (A): Many young people get acne on the face
during puberty.

Reason (R): During puberty, the secretion of sweat
glands and sebaceous glands increases.

Correct statement based on above assertion and reason.

1. A correct; R incorrect

2 A mcorrect; R correct

3. A and R both correct; R is the correct explanation for A
4

A and R both correct; R is not the correct explanation
for A

ARTES(A) : TR0 TOBTY B0 &S
CINTHORFTY VRTWINH WIS,

Fo080 (R): TR0 TOBTY BR[TD ROPNR,
Be3enoDT NOPNT AT TS,

20eIT BFFS, TTLNG BTN FOOIRT 03,
1. A Z0ciNS, R R00HY
2. A TOOHY, R BOCITONT

3. AR R QTTER FOCPTH) ;R 0T A
pisfelovenin NN o}5

4  ADRR ATVEE BOSRTH ;R Q00 A
R ZO0iRT QBSHOHY



144. These seeds disperse through air

1. Drumstick

2 Xanthium

3. Castor

4, Balsam

MPON DROF i) TRONT VLN
1. 1

2. aplelilovse

3. BEo

4. Q0O RPCO0

145. The first and foremost skill required for the scientific

experiment

I. estimation

2. observation

3. conducting experiment
4. measuring

FPROT Fodeend SREBATLY BT FIOT)
1. RLROFZY

2. &egﬁo@cﬁa

3. BA3Ren BRBEYI

4.  OPONJYID



146.

147.

The last step in the Psychomotor domain

1. Imitation

2. Precision

3. Manipulation

4. Naturalisation

RIOTAT 23@@33 5@03363@ BRZON TOI
1. ONITH

2. VT3

3. %625%33

4. ééme?%dsa

Which of the following is not an Academic standard as per the
State Curriculum Framework - 2011

l. Conceptual understanding

2 Creativity

3. Information skills and projects
4. Concern to bio diversity

OO, TIFE e3PFLD, 2011 TS IENIRYNSY 33edT
Fmesem,

1. wa%%még SDZPS
2. %asmsgé
3. =330&%8 @5@571@;0 — OSRCWTD TOONFND
4. zﬁewﬁé&qsééoa W ToYe
A



148. “Student gives reasons for water pollution.” — Instructional
objective of this specification

1. Knowledge

2. Understanding

3. Application

4. Skill

RHF ®O IRIJF, wONTH, WIS — B
DALTTEAT ASOISAID! emcées

[X]

1. m@

2. SRV
3. OIODT
4. T3V

b



149. According to Kilpatrick classification — “Project on collection
of plants and animal products and parts” is a type of

1. Productive project

2. Utilization project

3. Problem project

4. Training project

SCFIIRT WNEFTTOT Tped — “BT, TS FOWOP
SN, LNNTR, FOMBDAIZYTD” DOLOTR 2WwOTD

L UZOTE 0SReR

2. QUTOINEBZ odeewdd
3. RIF odpewd

4. 308 ABexd

150. Learning percentage through smell
VAN TROT YVOIME Jedwo 3OF

1 11%

2. 3.5%
3. 1.5%
4 1.0 %



